Practice Questions 15 Answers
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Confused
Words

1. Incorrect
2. Correct
3. Incorrect
4. Correct
5. Correct
6. Incorrect
7. Correct
8. Correct
9. Incorrect
10. Incorrect

Hyperbole odd
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Spelling Synonyms
recruit 1. pungent
simile
souvenir 2. haul
superiﬁtendent 3. pacify
traitor
significance 4. lament
solemn
substitute 5. benevolent

transmitted

various

7. humongous

Commas

1. We took a long, relaxing walk.

2. Hardworking, dependable
students usually get good
grades.

3. No commas.

4. We ate battered, fried
Snickers bars for dessert.

5. No commas.

o

The complicated and tedious

work is getting to me.

6. vagabond

Odd one

out
L valley

2. bicycle
3. cabbage
4. dog

5. cake

Antonyms
L. gullible

-

4. upright
5. prolong
5. careless

7. delighted

Best Words
1. expelled

2. loved
3. awarded
4. equaton
5. taught

Fill in the
blanks

1. before

2. tradition

4 originated
5. ward

Odd one
out

1. valley

2. bicycle

1. cabbage

4. dog

5. cake
Forwards/backwards

I. OZ (+1=0, +2=2)
2. BT (-3=B, +3=T)

3. UF(-I=U, +1=F)
L. PA (+2=P, —|=A)

Increase/Decrea
se/Alternating

l. XZ(+3 +1 +3
+| +3=X2)
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?2“” 1 Ratio & Proportion
g; Find rations
a6 1) 30:48 =5 :8
5c 2) 48:78 =8:13
bc
e Equivalent
gd 1) Vary
C
2) Vary
186 3) Vary C?ke
. 4) Lexus/Fiat @
Tat“lx 2 ) 100g flour
22 58g Suga
3e Rates 25g butter
4 1)1:2 2 eggs
5e 2) 1:5 5ml vanilla
3)1:12 128ml water
Matrix 3 4)4:9
1d b)
2e 4p8g flour
3a 208g sugar
g; Ratio 188g butter
8 eggs
Probl
e 15028Em5 26ml vanilla
b 2) SEKE 4368ml water
9c 3) 18 _
16b ) 12 c) B servings
d) 28 servings
proportion
. 1) 12 blue
- 2) 21 Vanilla
3) 68 calls
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